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Circle the correct answer:
Incremental personal changes do/do not
create large-scale environmental change
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Circle the correct answer:
Incremental personal changes do/do not
create large-scale environmental change
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Circle the correct answer:
Incremental personal changes do/do not
create large-scale environmental change
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Circle the correct answer:
Incremental personal changes do/do not
create large-scale environmental change
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Circle the correct answer:
Incremental personal changes do/do not
create large-scale environmental change
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Circle the correct answer:
Incremental personal changes do/do not

o«
VI
'Yl
ol
o«
<
VI
Vil n i
o«
o«
o S
=y
£ s
5 M
S el
=
o
£ e
= el
o el
3
S AR
o0 g
=
o S
Jas]
mlw:: I
o
|
o
o
S
5 8l
=
S &Ll
N NG
o 9(}\1(
O S [

vib. = 6
let ring

91
vib.

u
i

=]

W

fioit
LU

=

D\

Iy [l
VI

=1

D\

=1
|t 1]

=1

W o,

Iy [l
VI

=1

W .,

Iy [l
V I

A
[ 4

/

=

W .,

toms

97

., ITw,
H
|
Bw
|
1Y
Lo} TW
Irn
H
|
(W
|
T |\
mL.N
N /’
g £
> S

—— vib.=8 —=vib.=0

L
(o]
L

Tl
™=

e [l
VI

ool
[e.|
L

Iz

R\

A\

e [

Al
|t

103
vib.

W

/.

toms

13 MAY 2014

17



Circle the correct answer:
Incremental personal changes do/do not

create large-scale environmental change
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Circle the correct answer:
Incremental personal changes do/do not

create large-scale environmental change
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Circle the correct answer:
Incremental personal changes do/do not

create large-scale environmental change
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Circle the correct answer:
Incremental personal changes do/do not

create large-scale environmental change
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Circle the correct answer:
Incremental personal changes do/do not

create large-scale environmental change
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Circle the correct answer:
Incremental personal changes do/do not

create large-scale environmental change
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Circle the correct answer:
Incremental personal changes do/do not

create large-scale environmental change
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Circle the correct answer:
Incremental personal changes do/do not
create large-scale environmental change
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Circle the correct answer:
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Circle the correct answer:
Incremental personal changes do/do not
create large-scale environmental change
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Circle the correct answer:
Incremental personal changes do/do not

create large-scale environmental change
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Circle the correct answer:
Incremental personal changes do/do not
create large-scale environmental change
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Incremental personal changes do/do not
create large-scale environmental change
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Circle the correct answer:
Incremental personal changes do/do not
create large-scale environmental change
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Circle the correct answer:
Incremental personal changes do/do not
create large-scale environmental change
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Circle the correct answer:
Incremental personal changes do/do not
create large-scale environmental change
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